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How much money is there altogether?
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Show two ways to complete the part-whole
model by drawing money.
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Zach has the following coins.
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He thinks he has 52 p.

Explain his mistake.
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Here is a coin and a note.

Malachi says, “There is 11p”.
Rosie says, “There is £11”.

Are either of them correct?

Explain why.
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Zach has the following coins.

* @
He thinks he has 52 p-

Zach thinks the 5p is a 50 p coin. He has 7p.
Alternatively, he has combined the 5 and 2 from each coin.

Here is a coin and a note.

Malachi says, “There is 11p”.
Rosie says, “There is £11”.

Are either of them correct?

No, Malachi and Rosie have taken the digits 1
and 10 and added them together.
The coins are a mix of pounds and pence so
need to be counted separately
There is £10 and 1p.





